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1 REFKIBERK

. F Al [ K | H e
L % o : mg/L | 5A17TH | 67128 | 7THI19H | 8H7H | 9H11H T
1,3-Y 27 nunm 7 ay (D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA( % 7 K v ) 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4-D(2,4-PA) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
EPN 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 [<0.00004
MCPA 0.005 [ <0.0001 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001
7 v 2 5 N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 & 7 = — b+ ]0.006|<0.00006  <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
7 k 5 v v 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2 [ 0.003] <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002
7 3 b 5 2] 0.006 |<0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
7 5 J v — J 0.03 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
4 Y % % F F > |0.008]<0.00008  <0.00008 | <0.00008 | <0.00008 | <0.00008 |<0.00008
4 v 7 = v & A [0.001]<0.00005 <0.00005  <0.00005 | <0.00005 | <0.00005 |<0.00005
A4 Y 7 a7 (MPC) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y FuaF F T IPD) 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
4 7 v <X v ik A (BP) 0.09 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
4 2 2 v % ¥ » 0.006
4 v ¥ 7 7 7 ¥ |[0.009]<0.00009  <0.00009 | <0.00009 | <0.00009 |<0.00009 |<0.00009
= 2 7 u Hh L 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
747z FA(TY 72K A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
T hT7 Yy S ay s A 0.08 [ <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRICTY — (= ra A —) | 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004
TURANLT 7R TEY) 0.01 | <0.0001 | <0.0001 & <0.0001 = <0.0001 | <0.0001 | <0.0001
F X Y s m AR 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
4+ U ¥+ 2 h m B v 0.1 <0.001 <0.001 <0.001 <0. 001 <0.001 <0.001
7 =z a 7+ 2 0.0006] <0.00001 | <0.00001 | <0.00001 ' <0.00001 | <0.00001 [<0.00001
7 = v 2 b a — s |0.008 |<0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 |<0.00008
7 N v > v 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
J v N U L (NAC) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 m % X K 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B R 7 F > ]0.005 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
¥ , 2/ 2 I v (ACN) |0.005 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
* ¥ 7 v v 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
Vi N L o v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7y &k ¥ — b 2 <0.02 <0.02 <0. 02 <0.02 <0.02 <0. 02
y v & ¥ F*x — |k 0.02 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
sy m 2 7 B v 7 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
sm A =km 7= (CNP) |0.0001| <0.0001 & <0.0001 = <0.0001 & <0.0001 | <0.0001 | <0.0001
s m g ¥ U &k A |0.003 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
7 mowu # u = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 + v > [ 0.004 | <0.00004 | <0.00004 |<0.00004 | <0.00004 | <0.00004 |<0.00004
v 7 7 & A (CYAP) |0.003 [<0.00003 | <0.00003 @ <0.00003 | <0.00003 | <0.00003 [<0.00003
Y w m ¥ (DCMU) 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = L (DBN) 0.03 | <0.0001 | <0.0001 & <0.0001 & <0.0001 | <0.0001 | <0.0001
Y/ m A AR Z (DDVP) | 0.008 |<0.00008 | <0.00008 @ <0.00008 | <0.00008 |<0.00008 [<0.00008
v Y % > | o0.005
Y ZNVIRRN (B F VT A AR) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004
v F 7 J v 0.03
CF A AN A — R IR 0. 005
v B2 * 5 s [ 0.009 [ <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 |<0.00009
v onmok w7 7 F o |0.006 |<0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
v < ¥ v (AT |0.003 [<0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003
YA FZ A F U v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
v A r = — } 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v A b ] v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
Y A v <~ L — + ]0.003[<0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003
2 A4 7 ¥ s v ]0.003| <0.0001 = <0.0001 @ <0.0001 = <0.0001 | <0.0001 | <0.0001
5 e A = v 0.8 <0.008 <0.008 <0. 008 <0.008 <0.008 <0.008
B AR AL (T —30) J Y 001
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¥ 7 v = I 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
¥ v 7 2 0. 02 <0.001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
F * Y A oA 7 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAE T 7 F— KA F L 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oF X o T 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F 7 U U F v 0.002 | <0.0002 0.0003 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F v 7 H 7 (MBPMC) 0.02 | <0.0002 & <0.0002 = <0.0002 | <0.0002 | <0.0002 [ <0.0002
I N % 0.006 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
MU 27 v ok v (DEP) 0.005 | <0.0005 | <0.0005  <0.0005 | <0.0005 | <0.0005 | <0.0005
YUYy 5 = 0.1 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 [ <0.0008
Y7o 5y 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
> F o s I R 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 = — b 0. 005

1= ~ = + 2 10.0009] <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
¥ 5 s v = 0.01 | <0.0001 0.0002 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
S A 0.004 | <0.00004 | <0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004
B x—MET L —]) 0.02 | <0.0002 & <0.0002 & <0.0002 | <0.0002 | <0.0002 [ <0.0002
vy ¥ 7oy FoF 0.002 | <0. 00005 | <0.00005  <0.00005 | <0.00005 | <0.00005 | <0.00005
vy 7 F s 7 0.02 | <0.0002 & <0.0002 & <0.0002 | <0.0002 | <0.0002 [ <0.0002
= = * = v 0.05 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
7 4 7 w = A 0.0005[ 0.00002 |<0.00001 |<0.00001 | <0.00001 |<0.00001 [<0.00001
7 = = ko FF » (MEP) 0.01 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
7 = J 7 J v 7 (BPMO) 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
e N 2 0.05 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = v F F v (PP 0.006 [ <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005
7 = v k= — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I K 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
7 A 7 A K 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a — 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 2 & 2 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 = ¥ v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
AR A S N 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v F I s v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w ¥ I K v 0.09 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm  F  F K R 0.004 | <0.00004 | <0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004
7 m v oa ;Y — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ¥ ¥ I F 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
- S Y 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v = J F K 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J 3 v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 [ <0.0002
2 = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A S =T 0.09 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~N v Yy 7 = F w7 ]0.005 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
X T o4 AR v 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A R 24 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTINF Y (RAnPy) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 L k& — k 0.07 | <0.0007 | <0.0007 = <0.0007 | <0.0007 | <0.0007 | <0.0007
A A F 7T ¥ — b 0.003 [<0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003 [<0.00003
~ T F A~ T ) 0.7 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A = 7 1w v 7 (MCPP) 0.05 |<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
A v 3 V2 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A X T X v 0.06 | <0.0006 & <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A F VX A4 Ao v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A M3I ) A FnrEV 0.04 | <0.0004 & <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A VT Y v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F k v b 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A v =t = N 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
* Jj B — b~ 0.005 | <0.00005 | <0. 00005  <0.00005 | <0.00005 | <0.00005 | <0.00005
i H & 12 it 1 0. 04 0.17 <0.01 <0.01 <0.01 0. 04
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6. 2 LBEHKIFRK
6. 2. 1 TREKKRYTH

=t B T H H 2 7K A H T
mg/L | 5H17TH | 6120 | 7THI9H 8HTH 9H11H
1,3-Y7nmu~r o~y (DD) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA( % Z K v ) 0.08 | <0.0008 | <0.0008 = <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4-D(2,4-PA) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
EPN 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
MCPA 0.005 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001 [ <0.0001
7 v a2 v N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 v 7 = — bk 0.006 | <0.00006 | <0.00006 & <0.00006 | <0.00006 | <0.00006 | <0.00006
7 S 7 Y v 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001  <0.0001 | <0.0001
7 = = = 2 0.003 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
7 3 S 5 2| 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 5 7 v — 0.03 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
4 Y x* ¥ F F v 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
4 YV 7 = v &k = 0.001 | <0.00005 | <0.00005 & <0.00005 | <0.00005 | <0.00005 | <0.00005
A4 Y 7 a7 (MPC) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001  <0.0001 | <0.0001
A4 Y 7 uF & T (P 0.3 <0. 003 <0.003 <0. 003 <0.003 <0.003 <0. 003
A4 7 v <X ¥ & A (BP) 0.09 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
4 2 ) v B Y v 0. 006
A4 v K ) T 7 v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
-~ 2 7w B L T 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
T (7 2V RA(TY 72V kA, EDDP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
T N7 2T ry A 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRYDT Y — (= ra A — L) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANLT 7RV L) 0.01 | <0.0001 | <0.0001 | <0.0001 & <0.0001  <0.0001 | <0.0001
il 7 A =R S N 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
FF v (FH K ) 0.03 | <0.0005 | <0.0005 | <0.0005  <0.0005  <0.0005 | <0.0005
+ U ¥ 2 ko v v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z + 7 2 10.0006| <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
7 = v A R Em — 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
7 v v > 7 0.3 <0. 003 <0.003 <0. 003 <0.003 <0.003 <0. 003
v X U L (NAC) 0.05 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
o 7 w8 3 R 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
R S A 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ / 7 7 I v (ACN) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ ¥ 7 v v 0.3 <0. 003 <0. 003 <0.003 <0. 003 <0. 003 <0. 003
V4 N v o v 0.03 | <0.0003 | <0.0003 | <0.0003 = <0.0003 & <0.0003 | <0.0003
VA S 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR 2 A T 0. 02 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
V=T B A =T 4 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
sma ) =hkmr 7= (CNP) [0.0001] <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
7 m L E U Kk R 0.003 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 mwm % o = L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 A v v 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
v 7/ & % (CYAP) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y w wm v (DCMU) 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
v 7 v X = L (DBN) 0.03 | <0.0001 | <0.0001 | <0.0001 & <0.0001  <0.0001 | <0.0001
Y 7 v o K 2 (DDVP) 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
D 7 U > k 0. 005
VAN (F IV FF AR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
P ¥ 7 J v 0.03
CFF AN A— T E IR 0. 005
P F %+ = v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
yonm kv F T F 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
v < ¥ v  (CAT 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y A X A b U v 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
Y oA b T — } 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
o A S U v 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
DA T S T 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
gz 4 T Y ) 0.003 | <0.0001 | <0.0001 | <0.0001 | <0.0001 & <0.0001 [ <0.0001
v e A = v 0.8 <0. 008 <0.008 <0. 008 <0.008 <0. 008 <0. 008
LAY AR (J1—r35) R 0,01
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2.

+ 7 v = L 0.1 <0. 001 <0.001 <0. 001 <0.001 <0.001 <0. 001
Ea % Z 2 0.02 <0.001 <0. 001 <0. 001 <0. 001 <0.001 <0. 001
F F Y B N 7 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAE 7 7 Fx— KA F 0.3 <0.003 <0. 003 <0. 003 <0. 003 <0.003 <0. 003
F oA N v T 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F 7 U A b U F v 0.002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F ) 7 H 7 (MBPMC) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Yy o om ¥ L 0.006 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001 [ <0.0001
KU 2 a ok v (DEP) 0.005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
Y Yy 5y — L 0.1 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
Y 7o Z5 Y 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
+ 7 = X I K 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
VA = = — = 0. 005

v ~2 o + Z0.0009 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 [ <0.00003
¥ 5 4 v = J 0.01 | <0.0001 | <0.0001 | <0.0001 & <0.0001  <0.0001 | <0.0001
S R A 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
EIY YR —h(ETSL—]) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
YU X 7o F At 0.002 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
vy 7 F A L 7 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
v = X = v 0.05 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
7 4 7 wm = 2 [0.0005] <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 [ <0.00001
7 == ku F 4 » (EP) 0.01 [ <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
7 = /) 7 J5 ) 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 = U A Vv 0.05 | <0.0005 | <0.0005  <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = ¥ F F v (MPP) 0.006 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = ¥ b = — b (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ k7 ¥ I F 0.01 | <0.0001 | <0.0001 | <0.0001 & <0.0001  <0.0001 | <0.0001
7 A 7 A r 0.1 <0.001 <0. 001 <0.001 <0. 001 <0. 001 <0. 001
7 % r m — N 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 X 2 + 2 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 a7 oz ¥ v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 T Y F A 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v F 7 7 ou — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 wm ¥ I K v 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm  F F K X 0.004 | <0.00004 | <0.00004 & <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v v a ;v = 0.05 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w v ¥ I K 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m X F Y — L 0.05 | <0.0005 | <0.0005 @ <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ® 7 F K 0.1 <0. 001 <0. 001 <0. 001 <0.001 <0. 001 <0. 001
~ J 2 I 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
~ v vy om v 0.1 <0. 001 <0.001 <0. 001 <0.001 <0.001 <0. 001
A -2 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009
Ny Y 7 e F oy T 0.005 | <0.0001 | <0.0001 | <0.0001 | <0.0001 = <0.0001 [ <0.0001
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
Ny F 4 AR Y v 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A R 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTAFT Y (RRPY) 0.01 | <0.0001 | <0.0001 | <0.0001 & <0.0001  <0.0001 | <0.0001
~ v 7 L k' = h 0.07 | <0.0007 | <0.0007 = <0.0007 | <0.0007 | <0.0007 | <0.0007
A A F 7 ¥ — b 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
~ T F A (~TF V) 0.7 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A =2 7 v v 7 (MCPP) 0.05 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
A v 2 v 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A X Z  F v 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F K F F v (DMTP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A F LV HE A4 L v v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A NI A FEE YV 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
S ) R A 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F & v b 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 = = v 0.1 <0. 001 <0.001 <0. 001 <0. 001 <0. 001 <0. 001
% Y 3 — I 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H ] 2 il 1 <€0. 01 <€0. 01 <0.01 <0.01 <0.01 <0.01
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6. 2. 2 LEREKKRYTH

=t B T H H 2 7K A H T
mg/L | 5H17TH | 6120 | 7THI9H 8HTH 9H11H
1,3-Y7nmu~r o~y (DD) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA( % Z K v ) 0.08 | <0.0008 | <0.0008 = <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4-D(2,4-PA) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
EPN 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
MCPA 0.005 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001 [ <0.0001
7 v a2 v N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 v 7 = — bk 0.006 | <0.00006 | <0.00006 & <0.00006 | <0.00006 | <0.00006 | <0.00006
7 S 7 Y v 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001  <0.0001 | <0.0001
7 = = = 2 0.003 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
7 3 S 5 2| 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 5 7 v — 0.03 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
4 Y x* ¥ F F v 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
4 YV 7 = v &k = 0.001 | <0.00005 | <0.00005 & <0.00005 | <0.00005 | <0.00005 | <0.00005
A4 Y 7 a7 (MPC) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001  <0.0001 | <0.0001
A4 Y 7 uF & T (P 0.3 <0. 003 <0.003 <0. 003 <0.003 <0.003 <0. 003
A4 7 v <X ¥ & A (BP) 0.09 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
4 2 ) v B Y v 0. 006
A4 v K ) T 7 v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
-~ 2 7w B L T 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
T (7 2V RA(TY 72V kA, EDDP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
T N7 2T ry A 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRYDT Y — (= ra A — L) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURANLT 7RV L) 0.01 | <0.0001 | <0.0001 | <0.0001 & <0.0001  <0.0001 | <0.0001
il 7 A =R S N 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
FF v (FH K ) 0.03 | <0.0005 | <0.0005 | <0.0005  <0.0005  <0.0005 | <0.0005
+ U ¥ 2 ko v v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z + 7 2 10.0006| <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
7 = v A R Em — 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
7 v v > 7 0.3 <0. 003 <0.003 <0. 003 <0.003 <0.003 <0. 003
v X U L (NAC) 0.05 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
o 7 w8 3 R 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
R S A 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ / 7 7 I v (ACN) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
¥ ¥ 7 v v 0.3 <0. 003 <0. 003 <0.003 <0. 003 <0. 003 <0. 003
V4 N v o v 0.03 | <0.0003 | <0.0003 | <0.0003 = <0.0003 & <0.0003 | <0.0003
VA S 2 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02 <0. 02
VAR 2 A T 0. 02 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
V=T B A =T 4 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
sma ) =hkmr 7= (CNP) [0.0001] <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
7 m L E U Kk R 0.003 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
7 mwm % o = L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 A v v 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
v 7/ & % (CYAP) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y w wm v (DCMU) 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
v 7 v X = L (DBN) 0.03 | <0.0001 | <0.0001 | <0.0001 & <0.0001  <0.0001 | <0.0001
Y 7 v o K 2 (DDVP) 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
D 7 U > k 0. 005
VAN (F IV FF AR 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
P ¥ 7 J v 0.03
CFF AN A— T E IR 0. 005
P F %+ = v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
yonm kv F T F 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
v < ¥ v  (CAT 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
oA K A kU v 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
Y oA b T — } 0.05 | <0.0005 | <0.0005 | <0.0005 = <0.0005  <0.0005 | <0.0005
o A S U v 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
DA T S T 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
gz 4 T Y ) 0.003 | <0.0001 | <0.0001 | <0.0001 | <0.0001 & <0.0001 [ <0.0001
v e A = v 0.8 <0. 008 <0.008 <0. 008 <0.008 <0. 008 <0. 008
LAY AR (J1—r35) R 0,01

AFNAIFF LT F—HMITC)




2 LREKRUTH (03F)

2.

+ 7 D2 = L 0.1 <0. 001 <0.001 <0. 001 <0.001 <0.001 <0. 001
Ea % Z 2 0.02 <0.001 <0. 001 <0. 001 <0. 001 <0.001 <0. 001
F F Y B N 7 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAE 7 7 Fx— KA F 0.3 <0.003 <0. 003 <0. 003 <0. 003 <0.003 <0. 003
F oA N v T 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F 7 U A b U F v 0.002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F ) 7 H 7 (MBPMC) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Yy o om ¥ L 0.006 | <0.0001 | <0.0001 | <0.0001 | <0.0001  <0.0001 [ <0.0001
KU 2 a ok v (DEP) 0.005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
Y Yy 5y — L 0.1 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
Y 7o Z5 Y 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
+ 7 = X I K 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
VA = = — = 0. 005

v ~2 o + Z0.0009 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 [ <0.00003
¥ 5 4 v = J 0.01 | <0.0001 | <0.0001 | <0.0001 & <0.0001  <0.0001 | <0.0001
S R A 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
EIY YR —h(ETSL—]) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
YU X 7o F At 0.002 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
vy 7 F A L 7 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
v = X = v 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
7 4 7 wm = 2 [0.0005] <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 [ <0.00001
7 == ku F 4 » (EP) 0.01 [ <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
7 = /) 7 J5 ) 7 (BPMC) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 = U A Vv 0.05 | <0.0005 | <0.0005  <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = ¥ F F v (MPP) 0.006 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = ¥ b = — b (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ k7 ¥ I F 0.01 | <0.0001 | <0.0001 | <0.0001 & <0.0001  <0.0001 | <0.0001
7 A 7 A r 0.1 <0.001 <0. 001 <0.001 <0. 001 <0. 001 <0. 001
7 % r m — N 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 X 2 + 2 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 a7 oz ¥ v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 T Y F A 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v F 7 7 ou — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 wm ¥ I K v 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm  F F K X 0.004 | <0.00004 | <0.00004 & <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v v a ;v = 0.05 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w v ¥ I K 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 m X F Y — L 0.05 | <0.0005 | <0.0005 @ <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ® 7 F K 0.1 <0. 001 <0. 001 <0. 001 <0.001 <0. 001 <0. 001
~ J 2 I 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
~ v vy om v 0.1 <0. 001 <0.001 <0. 001 <0.001 <0.001 <0. 001
A -2 0.09 | <0.0009 | <0.0009 = <0.0009 | <0.0009 | <0.0009 | <0.0009
Ny Y 7 e F oy T 0.004 | <0.0001 | <0.0001 | <0.0001 | <0.0001 = <0.0001 [ <0.0001
~ v v v v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
Ny F 4 AR Y v 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A R 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTAFT Y (RRPY) 0.01 | <0.0001 | <0.0001 | <0.0001 & <0.0001  <0.0001 | <0.0001
~ v 7 L k' = h 0.07 | <0.0007 | <0.0007 = <0.0007 | <0.0007 | <0.0007 | <0.0007
A A F 7 ¥ — b 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
~ T F A (~TF V) 0.7 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A =2 7 v v 7 (MCPP) 0.05 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
A v 2 v 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A X Z  F v 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F K F F v (DMTP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A F LV HE A4 L v v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A NI A FEE YV 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
S ) R A 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F & v b 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
A 7 = = v 0.1 <0. 001 <0.001 <0. 001 <0. 001 <0. 001 <0. 001
% Y 3 — I 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
i H ] 2 il 1 <€0. 01 <€0. 01 <0.01 <0.01 <0.01 <0.01
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6. 3 REESRKIGEK

. F Al [ K | H e
L % o : mg/L | 5A17TH | 67128 | 7THI19H | 8H7H | 9H11H T
1,3-Y 27 nunm 7 ay (D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA( % 7 K v ) 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4-D(2,4-PA) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
EPN 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 [<0.00004
MCPA 0.005 [ <0.0001 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001
7 v 2 5 N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 & 7 = — b+ ]0.006|<0.00006  <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
7 k 5 v v 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2 [ 0.003] <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002
7 3 b 5 2] 0.006 |<0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
7 5 J v — J 0.03 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
4 Y % % F F > |0.008]<0.00008  <0.00008 | <0.00008 | <0.00008 | <0.00008 |<0.00008
4 v 7 = v & A [0.001]<0.00005 <0.00005  <0.00005 | <0.00005 | <0.00005 |<0.00005
A4 Y 7 a7 (MPC) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y FuaF F T IPD) 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
4 7 v <X v ik A (BP) 0.09 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
4 2 2 v % ¥ » 0.006
4 v ¥ 7 7 7 ¥ |[0.009]<0.00009  <0.00009 | <0.00009 | <0.00009 |<0.00009 |<0.00009
= 2 7 u Hh L 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
747z FA(TY 72K A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
T hT7 Yy S ay s A 0.08 [ <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRICTY — (= ra A —) | 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004
TURANLT 7RV TEY) 0.01 | <0.0001 | <0.0001 & <0.0001 = <0.0001 | <0.0001 | <0.0001
F X Y s m AR 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
4+ U ¥+ 2 h m B v 0.1 <0.001 <0.001 <0.001 <0. 001 <0.001 <0.001
7 =z a 7+ 2 0.0006] <0.00001 | <0.00001 | <0.00001 ' <0.00001 | <0.00001 [<0.00001
7 = v 2 b a — s |0.008 |<0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 |<0.00008
7 N v > v 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
J v N U L (NAC) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 m % X K 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B R 7 F > ]0.005 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
¥ , 2/ 2 I v (ACN) |0.005 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
* ¥ 7 v v 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
Vi N L o v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7y &k ¥ — b 2 <0.02 <0.02 <0. 02 <0.02 <0.02 <0. 02
y v & ¥ F*x — |k 0.02 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 owm A 7 v oy 7 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
sm A =km 7= (CNP) |0.0001| <0.0001 & <0.0001 = <0.0001 & <0.0001 | <0.0001 | <0.0001
s m g ¥ U &k A |0.003 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
7 mowu # u = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 + v > [ 0.004 | <0.00004 | <0.00004 |<0.00004 | <0.00004 | <0.00004 |<0.00004
v 7 7 & A (CYAP) |0.003 [<0.00003 | <0.00003 @ <0.00003 | <0.00003 | <0.00003 [<0.00003
Y w m ¥ (DCMU) 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = L (DBN) 0.03 | <0.0001 | <0.0001 & <0.0001 & <0.0001 | <0.0001 | <0.0001
Y/ m A AR Z (DDVP) | 0.008 |<0.00008 | <0.00008 @ <0.00008 | <0.00008 |<0.00008 [<0.00008
v Y % > | o0.005
Y ZNVIRRN (B F VT A AR) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 [<0.00004
v F 7 J v 0.03
CF A AN A — R IR 0. 005
v B2 * 5 s [ 0.009 [ <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 |<0.00009
v onmok w7 7 F o |0.006 |<0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
v < ¥ v (AT |0.003 [<0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003
YA FZ A F U v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
v A r = — } 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v A b ] v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
Y A v <~ L — + ]0.003[<0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003
2 A4 7 ¥ s v ]0.003| <0.0001 = <0.0001 @ <0.0001 = <0.0001 | <0.0001 | <0.0001
5 e A = v 0.8 <0.008 <0.008 <0. 008 <0.008 <0.008 <0.008
B AR AL (T —30) J Y 0,01
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¥ 7 v = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
¥ v 7 2 0. 02 <0.001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
F F Y A oA T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAE T 7 F— KA F L 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oF X o T 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F 7 U U F v 0.002 | <0.0002 0.0003 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F v 7 H 7 (MBPMC) 0.02 | <0.0002 & <0.0002 = <0.0002 | <0.0002 | <0.0002 [ <0.0002
- =Y 0.006 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
MU 27 v ok v (DEP) 0.005 | <0.0005 | <0.0005  <0.0005 | <0.0005 | <0.0005 | <0.0005
YUYy 5 = 0.1 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 [ <0.0008
Y7o 5y 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
> F o s I R 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 = — b 0. 005

1= ~ = + 2 10.0009] <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
¥ 5 s v = 0.01 | <0.0001 0.0002 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
[ A A 0.004 | <0.00004 | <0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004
B x—MET L —]) 0.02 | <0.0002 & <0.0002 & <0.0002 | <0.0002 | <0.0002 [ <0.0002
vy ¥ 7oy FoF 0.002 | <0. 00005 | <0.00005  <0.00005 | <0.00005 | <0.00005 | <0.00005
vy 7 F s 7 0.02 | <0.0002 & <0.0002 & <0.0002 | <0.0002 | <0.0002 [ <0.0002
= = * = v 0.05 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
7 4 7 wm = 2 [0.0005[<0.00001 |<0.00001 |<0.00001 | <0.00001 |<0.00001 [<0.00001
7 = = ko FF » (MEP) 0.01 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
7 = J 7 J v 7 (BPMO) 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A U VN 2 0.05 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = v F F v (PP 0.006 [ <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005
7 = v k= — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I K 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
7 A 7 A K 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a — 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 2 & 2 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 = ¥ v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
AR A S N 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v F T 7 v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w ¥ I K v 0.09 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm  F  F K R 0.004 | <0.00004 | <0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004
7 m v oa ;Y — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ¥ ¥ I F 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
- S Y 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v = J F K 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J N v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 [ <0.0002
2 = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A S =T 0.09 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~N v Yy 7 = F w7 ]0.005 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v v > v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
N T o4 A E Y v 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
N 7T v T 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTINF Y (RAnPy) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 L k& — k 0.07 | <0.0007 | <0.0007 = <0.0007 | <0.0007 | <0.0007 | <0.0007
A A F 7T ¥ — b 0.003 [<0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003 [<0.00003
~ T F A~ T ) 0.7 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A = 7 1w v 7 (MCPP) 0.05 |<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
A v 3 V2 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A X T X v 0.06 | <0.0006 & <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A F VX A4 Ao v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A~ I A Mr VvV 0.04 | <0.0004 & <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A VT Y v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F v k 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
* Jj B — b~ 0.005 | <0.00005 | <0. 00005  <0.00005 | <0.00005 | <0.00005 | <0.00005
i H & 12 it 1 <0.01 0.17 <0.01 <0.01 <0.01 0.03
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6. 4 EESHKZEK

. . A 2 7K A H e
" " H 5 mg/L | 5H17H | 64120 | 7THI9H | 8H7H | 9HI11H I
1,3-Y 7 mnn 7o~y (D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA( % 7 K& ¥ ) 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4-D(2,4-PA) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
EPN 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
MCPA 0.005 | <0.0001 = <0.0001 = <0.0001 | <0.0001 | <0.0001 [ <0.0001
7 v = 7 N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 kv 7 = — k 0.006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 k 5 v v 0.01 | <0.0001 = <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = = + 2 0.003 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 2 ~ 5 2 0. 006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
7 5 Z wm — 0.03 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y x ¥ F £ v 0.008 | <0. 00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 [<0.00008
4 Y 7 = v F R 0.001 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
A4 Y 7 v B T (MIPC) 0.01 | <0.0001 = <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y 7 aF 47 v 3IPD) 0.3 <0. 003 <0.003 <0. 003 <0.003 <0. 003 <0.003
4 7 m X v K A (IBP) 0.09 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
4 2 U HE Y v 0. 006
A4 v X ) Ty v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
™ 2 7 v h N 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 47z FA(TY 72 kA, EDDP) 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
BN T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TR DT = (mra A =)L) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
TURALT 7 (R ) 0.01 | <0.0001 = <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
T A A = B S N 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
X v A ) 0.03 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
+ UV % X b m v v 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 z V2 AR 2 10.0006 | <0. 00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001
B 7 = v A hu — L 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
7 L v v v 0.3 <0. 003 <0.003 <0. 003 <0.003 <0. 003 <0.003
v N U (NAQ) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
H o 7 o X I K 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
/B A S 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
* /J 7 Z I ¥ (ACN) 0.005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
* ¥ -7 v v 0.3 <0. 003 <0. 003 <0.003 <0. 003 <0.003 <0. 003
V4 2 L = v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 U &k ¥ = b 2 <0. 02 <0. 02 <0.02 <0. 02 <0.02 <0. 02
VAR A S 0. 02 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7y o wm A 7w oy 7 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
sm =k =y (CNP) [0.0001] <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
V= R 0.003 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
s o m % 1o = JL (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 ¥ v v 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
¥ 7 7 & % (CYAP) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
Y v v v (DCMU) 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 B ~ = ;L (DBN) 0.03 | <0.0001 = <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
T 7 m A Z (DDVP) 0.008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008
v Y U > ~ 0. 005
DAV (T TFFARY) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
v ¥ 7 J v 0.03
CF A SN A — N 0. 005
v a + = v 0.009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009
oNm Ry ST F 0.006 | <0. 00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006
v = ¥ v (CAD) 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
voA X A U v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
Y A F = — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v A k U v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
v 2 rF < L — 0.003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
P S Y S A A 0.003 | <0.0001 = <0.0001 = <0.0001 | <0.0001 | <0.0001 [ <0.0001
b A N = v 0.8 <0.008 <0. 008 <0.008 <0. 008 <0.008 <0. 008
LAY R AR (T —730) BN 0.01
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A 7 v = v 0.1 <0.001 <0.001 <0.001 <0. 001 <0.001 <0. 001
¥ v 7 A 0. 02 <0.001 <0. 001 <0.001 <0. 001 <0.001 <0. 001
F 4+ v o T 0. 08 <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FA 7 75X —FRXF N 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0. 003
F F X T 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
> 7 Vv v U F v 0.002 [ <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v 7 H v 7 (MBPMC) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
bk Y 7 =4 | O 0.006 [ <0.0001 | <0.0001 <0.0001 | <0.0001 | <0.0001 | <0.0001
Y 27 v ik » (DEP) 0.005 [ <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
MY Yy T = 0.1 <0.0008 | <0.0008 | <0.0008 = <0.0008 | <0.0008 | <0.0008
Yoo 7 U 0. 06 <0.0006 | <0.0006 | <0.0006 & <0.0006 | <0.0006 [ <0.0006
> 7 w=m X N R 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 5 =1 — k 0. 005

= ~ =4 R A 0. 0009 [ <0. 00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
v 7 7 z = ) 0.01 <0.0001 | <0.0001 <0.0001 | <0.0001 <0.0001 | <0.0001
= A 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7YV R —MEZFY L —}) 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
vy ¥ T F At 0. 002 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005
v v 7 F o 7 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
=4 =4 ks = o~ 0. 05 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
7 4 2 = B 0. 0005 <0. 00001 | <0.00001 | <0.00001 | <0.00001 | <0.00001 [ <0.00001
7 = = bku F F  MEP) 0.01 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 [ <0.0002
7 = J 7 41 v 7 (BPMO) 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 [ <0.0003
7 = U N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <O0.0005
7 = v F F » (PP) 0.006 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = v b = — I (PAP) 0. 007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = v b7 ¥ I K 0.01 <0.0001 | <0.0001 <0.0001 | <0.0001 <0.0001 | <0.0001
7 Va 7 A N 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
7 4 7 o — ) 0. 03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 pd 3 ZN A 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7w 7 o= ¥V 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 v T Y F A 0. 03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v F 7 7 om = 0. 05 <0.0005 | <0.0005 | <0.0005 @ <0.0005 | <0.0005 [ <0.0005
7 B PR rFov 0.09 <0.0009 | <0.0009 | <0.0009 & <0.0009 | <0.0009 [ <0.0009
7 m F F K R 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
7 v v a v — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005
7 = v N 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005
7 a Xy — 0.05 <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005
7 v ® J F N 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
~ / N v 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
~ v 7 = v 0.1 <0.001 <0.001 <0.001 <0.001 <0.001 <0. 001
N - A = 4 0. 09 <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
A S 0.005 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v b > v 0.2 <0.002 <0.002 <0.002 <0.002 <0. 002 <0.002
N T g Ay v 0.3 <0.001 <0. 001 <0.001 <0. 001 <0.001 <0. 001
~ v 7 7 o T 0. 04 <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 [ <0.0004
RUTNTZ Y RAB YY) 0.01 <0. 0001 <0.0001 | <0.0001 <0.0001 | <0.0001 <0. 0001
~ v 7 v & — b 0.07 <0.0007 | <0.0007 | <0.0007 | <0.0007 | <0.0007 [ <0.0007
x A F 7 € — F 0. 003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
~ 7 FF (T I V) 0.7 <0.0005 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005
A a2 7 v v 7 (MCPP) 0.05 | <0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 [ <0.00005
A v N v 0.03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 [ <0.0003
* 7 7 % ¥ N 0. 06 <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F ¥ F A  (DMTP) 0. 004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A F NV H A4 AonBv v 0. 03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A I/ A b nr bV 0.04 <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
* k U 7 VA 0. 03 <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F & v b 0. 02 <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
* a = = %z 0.1 <0.001 <0. 001 <0.001 <0. 001 <0.001 <0. 001
£ J x — ~ 0. 005 [ <0.00005 | <0.00005 | <0.00005 & <0.00005 | <0.00005 | <0.00005
i H 5 [ i 1 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
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6. 5 ZEHRKIGFEK

. F Al [ K | H e
L % o : mg/L | 5A17TH | 67128 | 7THI19H | 8H7H | 9H11H T
1,3-Y 27 nunm 7 ay (D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA( % 7 K v ) 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4-D(2,4-PA) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
EPN 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 [<0.00004
MCPA 0.005 [ <0.0001 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001
7 v 2 5 N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 & 7 = — b+ ]0.006|<0.00006  <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
7 k 5 v v 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2 [ 0.003] <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002
7 3 b 5 2] 0.006 |<0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
7 5 J v — J 0.03 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
4 Y % % F F > |0.008]<0.00008  <0.00008 | <0.00008 | <0.00008 | <0.00008 |<0.00008
4 v 7 = v & A [0.001]<0.00005 <0.00005  <0.00005 | <0.00005 | <0.00005 |<0.00005
A4 Y 7 a7 (MPC) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y FuaF F T IPD) 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
4 7 v <X v ik A (BP) 0.09 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
4 2 2 v % ¥ » 0.006
4 v ¥ 7 7 7 ¥ |[0.009]<0.00009  <0.00009 | <0.00009 | <0.00009 |<0.00009 |<0.00009
= 2 7 u Hh L 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
747z FA(TY 72K A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
T hT7 Yy S ay s A 0.08 [ <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRICTY — (= ra A —) | 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004
TURANLT 7RV TEY) 0.01 | <0.0001 | <0.0001 & <0.0001 = <0.0001 | <0.0001 | <0.0001
F X Y s m AR 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
4+ U ¥+ 2 h m B v 0.1 <0.001 <0.001 <0.001 <0. 001 <0.001 <0.001
7 =z a 7+ 2 0.0006] <0.00001 | <0.00001 | <0.00001 ' <0.00001 | <0.00001 [<0.00001
7 = v 2 b a — s |0.008 |<0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 |<0.00008
7 N v > v 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
J v N U L (NAC) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 m % X K 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B R 7 F > ]0.005 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
¥ , 2/ 2 I v (ACN) |0.005 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
* ¥ 7 v v 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
Vi N L o v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7y &k ¥ — b 2 <0.02 <0.02 <0. 02 <0.02 <0.02 <0. 02
y v & ¥ F*x — |k 0.02 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 owm A 7 v oy 7 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
sm A =km 7= (CNP) |0.0001| <0.0001 & <0.0001 = <0.0001 & <0.0001 | <0.0001 | <0.0001
s m g ¥ U &k A |0.003 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
7 mowu # u = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 + v > [ 0.004 | <0.00004 | <0.00004 |<0.00004 | <0.00004 | <0.00004 |<0.00004
v 7 7 & A (CYAP) |0.003 [<0.00003 | <0.00003 @ <0.00003 | <0.00003 | <0.00003 [<0.00003
Y w m ¥ (DCMU) 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = L (DBN) 0.03 | <0.0001 | <0.0001 & <0.0001 & <0.0001 | <0.0001 | <0.0001
Y/ m A AR Z (DDVP) | 0.008 |<0.00008 | <0.00008 @ <0.00008 | <0.00008 |<0.00008 [<0.00008
v Y % > | o0.005
Y ZNVIRRN (B F VT A AR) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 [<0.00004
v F 7 J v 0.03
CF A AN A — R IR 0. 005
v B2 * 5 s [ 0.009 [ <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 |<0.00009
v onmok w7 7 F o |0.006 |<0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
v < ¥ v (AT |0.003 [<0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003
YA FZ A F U v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
v A r = — } 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v A b ] v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
Y A v <~ L — + ]0.003[<0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003
2 A4 7 ¥ s v ]0.003| <0.0001 = <0.0001 @ <0.0001 = <0.0001 | <0.0001 | <0.0001
5 e A = v 0.8 <0.008 <0.008 <0. 008 <0.008 <0.008 <0.008
B AR AL (T —30) J Y 0,01
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¥ 7 v = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
¥ v 7 2 0. 02 <0.001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
F F Y A oA T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAE T 7 F— KA F L 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oF X o T 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F 7 U U F v 0.002 | 0.0003 0.0004 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F v 7 H 7 (MBPMC) 0.02 | <0.0002 & <0.0002 & <0.0002 | <0.0002 | <0.0002 [ <0.0002
=T =V 0.006 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
MU 27 v ok v (DEP) 0.005 | <0.0005 | <0.0005  <0.0005 | <0.0005 | <0.0005 | <0.0005
YUYy 5 = 0.1 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 [ <0.0008
Y7o 5y 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
> F o s I R 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 = — b 0. 005

1= ~ = + 2 10.0009] <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
¥ 5 s v = 0.01 0. 0001 0.0002 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
[ A A 0.004 | <0.00004 | <0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004
B x—MET L —]) 0.02 | <0.0002 & <0.0002 & <0.0002 | <0.0002 | <0.0002 [ <0.0002
vy ¥ 7oy FoF 0.002 | <0. 00005 | <0.00005  <0.00005 | <0.00005 | <0.00005 | <0.00005
vy 7 F s 7 0.02 | <0.0002 & <0.0002 & <0.0002 | <0.0002 | <0.0002 [ <0.0002
= = * = v 0.05 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
7 4 7 w = 2 0.0005[ 0.00003 |<0.00001 |<0.00001 | <0.00001 |<0.00001 [<0.00001
7 = = ko FF » (MEP) 0.01 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
7 = J 7 J v 7 (BPMO) 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A U VN 2 0.05 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = v F F v (PP 0.006 [ <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005
7 = v k= — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I K 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
7 A 7 A K 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a — 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 2 & 2 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 = ¥ v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
AR A S N 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v F T 7 v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w ¥ I K v 0.09 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm  F  F K R 0.004 | <0.00004 | <0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004
7 m v oa ;Y — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ¥ ¥ I F 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
- S Y 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v = J F K 0.1 0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J N v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 [ <0.0002
2 = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A S =T 0.09 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~N v Yy 7 = F w7 ]0.005 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v v > v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
N T o4 A E Y v 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
N 7T v T 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTINF Y (RAnPy) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 L k& — k 0.07 | <0.0007 | <0.0007 = <0.0007 | <0.0007 | <0.0007 | <0.0007
A A F 7T ¥ — b 0.003 [<0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003 [<0.00003
~ T F A~ T ) 0.7 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A = 7 1w v 7 (MCPP) 0.05 |<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
A v 3 V2 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A X T X v 0.06 | <0.0006 & <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A F VX A4 Ao v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A~ I A Mr VvV 0.04 | <0.0004 & <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A VT Y v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F v k 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
* Jj B — b~ 0.005 | <0.00005 | <0. 00005  <0.00005 | <0.00005 | <0.00005 | <0.00005
i H & 12 it 1 0.23 0. 22 <0.01 <0.01 <0.01 0. 09
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6. 6 ZEHRKIGEHEK

F Al [ K | H e
L % o : mg/L | 5A17TH | 67128 | 7THI19H | 8H7H | 9H11H T
1,3-Y 27 nunm 7 ay (D-D) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
2,2-DPA( % 7 K v ) 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
2,4-D(2,4-PA) 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
EPN 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 [<0.00004
MCPA 0.005 [ <0.0001 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001
7 v 2 5 N 0.9 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 & 7 = — b+ ]0.006|<0.00006  <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
7 k 5 v v 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
7 = o R 2 [ 0.003] <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002
7 3 b 5 2] 0.006 |<0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
7 5 J v — J 0.03 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
4 Y % % F F > |0.008]<0.00008  <0.00008 | <0.00008 | <0.00008 | <0.00008 |<0.00008
4 v 7 = v & A [0.001]<0.00005 <0.00005  <0.00005 | <0.00005 | <0.00005 |<0.00005
A4 Y 7 a7 (MPC) 0.01 | <0.0001 | <0.0001 = <0.0001 | <0.0001 | <0.0001 | <0.0001
A4 Y FuaF F T IPD) 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
4 7 v <X v ik A (BP) 0.09 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
4 2 2 v % ¥ » 0.006
4 v ¥ 7 7 7 ¥ |[0.009]<0.00009  <0.00009 | <0.00009 | <0.00009 |<0.00009 |<0.00009
= 2 7 u Hh L 7 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
747z FA(TY 72K A EDDP) | 0.006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
T hT7 Yy S ay s A 0.08 [ <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
TRICTY — (= ra A —) | 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 |<0.00004
TURANLT 7RV TEY) 0.01 | <0.0001 | <0.0001 & <0.0001 = <0.0001 | <0.0001 | <0.0001
F X Y s m AR 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
X v (A W) 0.03 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
4+ U ¥+ 2 h m B v 0.1 <0.001 <0.001 <0.001 <0. 001 <0.001 <0.001
7 =z a 7+ 2 0.0006] <0.00001 | <0.00001 | <0.00001 ' <0.00001 | <0.00001 [<0.00001
7 = v 2 b a — s |0.008 |<0.00008 | <0.00008 | <0.00008 | <0.00008 | <0.00008 |<0.00008
7 N v > v 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
J v N U L (NAC) 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 m % X K 0.04 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
B R 7 F > ]0.005 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
¥ , 2/ 2 I v (ACN) |0.005 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
* ¥ 7 v v 0.3 <0.003 <0.003 <0.003 <0.003 <0.003 <0.003
Vi N L o v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7y &k ¥ — b 2 <0.02 <0.02 <0. 02 <0.02 <0.02 <0. 02
y v & ¥ F*x — |k 0.02 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
7 owm A 7 v oy 7 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
sm A =km 7= (CNP) |0.0001| <0.0001 & <0.0001 = <0.0001 & <0.0001 | <0.0001 | <0.0001
s m g ¥ U &k A |0.003 [<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
7 mowu # u = /L (TPN) 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v 7 + v > [ 0.004 | <0.00004 | <0.00004 |<0.00004 | <0.00004 | <0.00004 |<0.00004
v 7 7 & A (CYAP) |0.003 [<0.00003 | <0.00003 @ <0.00003 | <0.00003 | <0.00003 [<0.00003
Y w m ¥ (DCMU) 0.02 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
Y 7 m <X = L (DBN) 0.03 | <0.0001 | <0.0001 & <0.0001 & <0.0001 | <0.0001 | <0.0001
Y/ m A AR Z (DDVP) | 0.008 |<0.00008 | <0.00008 @ <0.00008 | <0.00008 |<0.00008 [<0.00008
v Y % > | o0.005
Y ZNVIRRN (B F VT A AR) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 [<0.00004
v F 7 J v 0.03
CF A AN A — R IR 0. 005
v B2 * 5 s [ 0.009 [ <0.00009 | <0.00009 | <0.00009 | <0.00009 | <0.00009 |<0.00009
v onmok w7 7 F o |0.006 |<0.00006 | <0.00006 | <0.00006 | <0.00006 | <0.00006 |<0.00006
v < ¥ v (AT |0.003 [<0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003
YA FZ A F U v 0.02 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
v A r = — } 0.05 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
v A b ] v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
Y A v <~ L — + ]0.003[<0.00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003
2 A4 7 ¥ s v ]0.003| <0.0001 = <0.0001 @ <0.0001 = <0.0001 | <0.0001 | <0.0001
5 e A = v 0.8 <0.008 <0.008 <0. 008 <0.008 <0.008 <0.008
B AR AL (T —30) J Y 0,01
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¥ 7 v = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
¥ v 7 2 0. 02 <0.001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
F F Y A oA T 0.08 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008
FAE T 7 F— KA F L 0.3 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003 <0. 003
F oF X o T 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
F 7 U U F v 0.002 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
F v 7 H 7 (MBPMC) 0.02 | <0.0002 & <0.0002 = <0.0002 | <0.0002 | <0.0002 [ <0.0002
- =Y 0.006 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
MU 27 v ok v (DEP) 0.005 | <0.0005 | <0.0005  <0.0005 | <0.0005 | <0.0005 | <0.0005
YUYy 5 = 0.1 | <0.0008 | <0.0008 | <0.0008 | <0.0008 | <0.0008 [ <0.0008
Y7o 5y 0.06 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
> F o s I R 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
/3 7 = — b 0. 005

1= ~ = + 2 10.0009] <0.00003 | <0. 00003 | <0.00003 | <0.00003 | <0.00003 | <0.00003
¥ 5 s v = 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
[ A A 0.004 | <0.00004 | <0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004
B x—MET L —]) 0.02 | <0.0002 & <0.0002 & <0.0002 | <0.0002 | <0.0002 [ <0.0002
vy ¥ 7oy FoF 0.002 | <0. 00005 | <0.00005  <0.00005 | <0.00005 | <0.00005 | <0.00005
vy 7 F s 7 0.02 | <0.0002 & <0.0002 & <0.0002 | <0.0002 | <0.0002 [ <0.0002
= = * = v 0.05 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
7 4 7 wm = 2 [0.0005[<0.00001 |<0.00001 |<0.00001 | <0.00001 |<0.00001 [<0.00001
7 = = ko FF » (MEP) 0.01 | <0.0002 | <0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002
7 = J 7 J v 7 (BPMO) 0.03 | <0.0003 | <0.0003 = <0.0003 | <0.0003 | <0.0003 | <0.0003
A U VN 2 0.05 | <0.0005 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005
7 = v F F v (PP 0.006 [ <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 [ <0.0005
7 = v k= — bk (PAP) 0.007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007 | <0.00007
7 = ¥ b 7 ¥ I K 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 [ <0.0001
7 A 7 A K 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
7 % s a — 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v 2 & 2 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
7 7 v 7 = ¥ v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
AR A S N 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
7 v F T 7 v — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 w ¥ I K v 0.09 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
7 wm  F  F K R 0.004 | <0.00004 | <0.00004  <0.00004 | <0.00004 | <0.00004 | <0.00004
7 m v oa ;Y — 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v ¥ ¥ I F 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
- S Y 0.05 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
7 v = J F K 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
~ J N v 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 [ <0.0002
2 = T 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
A S =T 0.09 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009 | <0.0009
~N v Yy 7 = F w7 ]0.005 [ <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ v v > v 0.2 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002 <0. 002
N T o4 A E Y v 0.3 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
N 7T v T 0.04 | <0.0004 | <0.0004 = <0.0004 | <0.0004 | <0.0004 | <0.0004
RyTINF Y (RAnPy) 0.01 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001 | <0.0001
~ vy 7 L k& — k 0.07 | <0.0007 | <0.0007 = <0.0007 | <0.0007 | <0.0007 | <0.0007
A A F 7T ¥ — b 0.003 [<0.00003 | <0.00003 | <0.00003 | <0.00003 |<0.00003 [<0.00003
~ T F A~ T ) 0.7 | <0.0005 = <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
A = 7 1w v 7 (MCPP) 0.05 |<0.00005 | <0.00005 | <0.00005 | <0.00005 | <0.00005 |<0.00005
A v 3 V2 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A X T X v 0.06 | <0.0006 & <0.0006 | <0.0006 | <0.0006 | <0.0006 | <0.0006
A F X F F > (DMTP) 0.004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004 | <0.00004
A F VX A4 Ao v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A~ I A Mr VvV 0.04 | <0.0004 & <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004
A VT Y v 0.03 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003 | <0.0003
A 7 = F v k 0.02 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002
A v =t = L 0.1 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001 <0. 001
* Jj B — b~ 0.005 | <0.00005 | <0. 00005  <0.00005 | <0.00005 | <0.00005 | <0.00005
i H & 12 it 1 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
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